Combining Functions 
Retest
Name: _________________________________ 




Block: _________________
____
1.
Given [image: image1.png]h(x) = Tx2 + 5x—4



, which pair of equations below are possible equations for [image: image2.png]


 and [image: image3.png]a(x)



 so that [image: image4.png]


?

	A.
	[image: image5.png]Ax) = 6x2




[image: image6.png]g(x)

—x2-5x-4




	C.
	[image: image7.png]Ax) = 7x2




[image: image8.png]




	B.
	[image: image9.png]Ax) = 7x2




[image: image10.png]g(x)=-5x+4




	D.
	[image: image11.png]Ax) = 6x2




[image: image12.png]g(x)=x+5x-4






____
2.
Given [image: image13.png]


 and [image: image14.png]g(x) = x+6



, what is the domain and range of [image: image15.png]


?

	A.
	Domain: [image: image16.png]



Range: [image: image17.png]



	C.
	Domain: [image: image18.png]



Range: [image: image19.png]




	B.
	Domain: [image: image20.png]



Range: [image: image21.png]yeR




	D.
	Domain: [image: image22.png]re R




Range: [image: image23.png]





____
3.
Given the graphs of [image: image24.png]


 and [image: image25.png]


, what is the value of [image: image26.png]let2)



?

[image: image27.emf]0
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	A.
	–2.5
	B.
	–1
	C.
	–4
	D.
	0.5


____
4.
The function [image: image28.png]h(x) = g(Ax))



 is the composite of [image: image29.png]


 and [image: image30.png]g(x) =




. 

What is the domain of [image: image31.png]


?

	A.
	[image: image32.png]-2 <x <0



 
	C.
	[image: image33.png]x <=2



 or [image: image34.png]x>0





	B.
	[image: image35.png]x <2




	D.
	[image: image36.png]x>0






____
5.
Given the functions [image: image37.png]x) = f6-x



 and [image: image38.png]g(x) = x2+Tx



, which expression is equal to [image: image39.png]


?

	A.
	[image: image40.png]



	C.
	[image: image41.png]6-x+ 76—



 

	B.
	[image: image42.png]2 —6x+6




	D.
	[image: image43.png](x2 + Tx)f6 - x






____
6.
For the function [image: image44.png]=(7-x)?



, which are possible functions ƒand g so that [image: image45.png]h(x) = M)



?

	A.
	[image: image46.png]



[image: image47.png]



	B.
	[image: image48.png]Ax) =2




[image: image49.png]



	C.
	[image: image50.png]



[image: image51.png]g(x) = x2




	D.
	[image: image52.png]



[image: image53.png]





Short Answer

1.
Use the graphs of [image: image54.png]


 and [image: image55.png]


 to sketch the graph of [image: image56.png]ito)
gx)




, then identify its domain and range. Estimate the range, where necessary.

[image: image57.emf]0
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2.
Given the function [image: image58.png]


, determine possible functions p, q, and r so that [image: image59.png]2@ -a(r@)




.
Problem

1.
Given [image: image60.png]


 and [image: image61.png]


:

•
sketch a graph of the function

•
state its domain and range

a)
[image: image62.png]y=g(Ax)
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[image: image64.png]ito)
gx)
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The domain is: [image: image66.png]X+ 2




The range is: [image: image67.png]y = 4




PTS:
0
DIF:
Moderate
REF:
4.1 Combining Functions Graphically

LOC:
12.RF1
TOP:
Relations and Functions


KEY:
Conceptual Understanding | Procedural Knowledge | Communication

2.
ANS:


Possible functions are:

[image: image68.png]p(x)= x+2



, [image: image69.png]


, and [image: image70.png]3y =
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PROBLEM

1.
ANS:


a)
[image: image71.png]y=g(Ax)




b)
[image: image72.png]g(g®)










Make a table of values.

Make a table of values.

	x
	[image: image73.png]



	[image: image74.png]g(fx))




	
	x
	[image: image75.png]g(x)




	[image: image76.png]g(gt0)





	3
	–7
	45
	
	2
	0
	–4

	2
	–5
	21
	
	1.5
	–1.75
	–0.9

	1
	–3
	5
	
	1
	–3
	5

	0
	–1
	–3
	
	0
	–4
	12

	1
	1
	–3
	
	1
	–3
	5

	2
	3
	5
	
	1.5
	–1.75
	–0.9

	3
	5
	21
	
	2
	0
	–4


	
Graph the points with coordinates [image: image77.png](% g(a))



 that fit on the grid. Draw a smooth curve through the points for the graph of [image: image78.png]y=g(Ax)



.


[image: image79.emf]0
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From the graph, the domain is [image: image80.png]re R



 and the range is [image: image81.png]


.
	
Graph the points with coordinates [image: image82.png](% gle@))



 that fit on the grid. Draw a smooth curve through the points for the graph of [image: image83.png]g(g®)




.

[image: image84.emf]0
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From the graph, the domain is [image: image85.png]re R



 and the range is [image: image86.png]


.
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